2000 = =0l & 2 BHa A

A HdIIEL

M OS2SR, )

A

ol aFM 3 (&9 da)
SAH-HH . () - MBEAY - BHA2 Ao dd = HRS2
0 &+ 08
A& IIE 54,603,597 39,781,771 14,821,826
= 22,137,047
iy 684,000
J| 164,780
= 7,747,120
imi 676,853
Al 23,193,797
OISES, JIE & & HA=2X s (Al=2X/ES 50,824,039 36,222,230 14,601,809
HE20IA)
= 22,067,347
Dl 37,960
= 7,636,510
imi 676,853
Al 20,405,369
Hed® =4 442,888 252,602 190,286
== 3,900
Al 438,988
ALY =X 363,328 143,102 220,226
101 214 d| 111,748 56,726 55,022
10 JIZHZ22XANsSE+ 111,748 56,726 55,022
OZMEI L EHFOICH SOLEE CHRIQ
A X3 33,500 *30H x990 0.9 81,405
O4UEE IR 81,405,0002! %9, 45% 7,693
Ostugal 2 H2C220| X (eldxtel
XHE) 22,650
-0 200,000& x 15«72 21,000
-28 Y 2P 10,0008 %15% 1,650
201 LErEAH| 16,250 16,570 A 320
01 AtR22id] 16,250 16,570 A 320
O1. YBt+8Y| 4,500
SHEEAMAR AB=2H| 4,500,000 4,500
03.294+g 8,250
-HEEMAR ZAE 150,000 *20H 3,000
AL BELY
70,000& *15H 33| 3,150




SA

RSN

HH: OS2, IS X L HA=X S (MISX/2T - ISL0Y)
o9 GlEFM =X Rk
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 il b o HRs2
“TEA MRESEN FXRE A%
= 70,0003 10 33| 2,100
O5. 22| 3,500
GEEE YRR ZA
7,000 x5H*10 102 3,500
202 Oddl 8,400 9,600 21,200
01 SLHAHbI 8,400 9,600 A 1,200
O0ET2 ALET0lY|
60,0003 x4 H x5 x73] 8,400
206 TEbl 1,500 1,500 0
01 MZ bl 1,500 1,500 0
OGES2NY 220 RS HEY)
15,000 *100E 13l 1,500
301 ptEazs 12,430 15,706 A3,276
10 SAAHIZAS 12,430 12,600 A70
OSUS AN SYDIHAKX ofbl
60,0002 30 x22 3,600
OXNZBLHES NASAK 34
7,000& *50H x54] 1,750
O0E?I ATe BET 24
7,000 *80H 560
022 "MEY" YEYID AFE 2
= 7,000 *80E *23| 1,120
OGAMEINE ZAR X2
10,000& 30 18 5,400
307 QIZt0IA 213,000 13,000 200,000
02 gltFaEx 200,000 0 200,000
OO&ARI2l XIB AL 200,000,0002 200,000
05 QIZtREZ 13,000 13,000 0
OGENER YLD DSRE
8,000,000& 8,000
OOi4 Ol - S& HoIX|a &4 2 204
mE=; 5,000, 000& 5,000
ddEs &y 13,460 12,560 900
201 LEH23H] 9,260 8,360 900
01 A= el 9,260 8,360 900
O2. /15 =4l 9,260
HATML SLTR DSS=Y|
360,000& 360
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SA

RSN

Bu: OS2SR, )15 N8 L GA=K 4 (MEIST/2S - IEL0A)
o9 GlEFM =X Rk
SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
O & 04
OAEEH =MuFAS ZIFAF O]
2,000,000& x5 10,000
04 BIZ2HSHAIE X 27,000 27,000 0
O F2t JIESHAL 25,000,000& 25,000
OMEEH 52103 2,000,000 2,000
NEgr=s ATl NAIHE(EX) 12,000 40,000 A 28,000
= 3,900
Al 8,100
307 QI2t01A 12,000 40,000 A 28,000
& 3,900
Al 8,100
05 oIzt 12,000 40,000 A 28,000
OXNELEE HLELXE M= 12,000, 000& 12,000
= 3,900
Al 8,100
OlsE=AY X 47,988,357 32,218,254 15,770,103
= 21,025,154
& 7,170,813
imi 537,891
Al 19,254,499
2x0ts X2 71,920 37,580 34,340
201 LErEAH| 5,240 2,600 2,640
01 AtR2t2ld] 5,240 2,600 2,640
03.28+Y 3,700
OIS SASRNE B
70,000 *10H x4 3] 2,800
-OISEXNAIE SAIAL s 2AIEE
150,000 *3H *23] 900
O5.2 &l 1,540
OISR ASLEX FA2D2X 24
7,000 *2H*x10L *113] 1,540
202 O4Hl 1,920 1,920 0
01 =2ZWoib] 1,920 1,920 0
OOSARLYR &3 HAHOHY)
60,000 *2H x4 2 x4 3| 1,920
301 e AS3 8,760 7,060 1,700




SN

GRS =

HH: OS2SR, IS X L HA=X S (MISX/2S - ISL0Y)
Sl OISESAY X & Rk
_ _ HE T
SN-EHH . SH(BH) - HPAY - BE2 Ofl AF o4 il b o B2
TIEEEEETE 5,400 5,400 0
OOESTAIL 912 20,0002 *90% +33] 5,400
09 ZU2LABHI 1,320 0 1,320
OzZo22Rd EAY
5,00021 *12§ 222 x 128 1,320
10 SAHAHIRAS 2,040 1,660 380
OOIS=XAIE SAX DS0iH)
60, 00021 *52§ x221 23| 1,200
OOISZXAIE A&T 310 AT SA
7,000 %30% *43] 840
307 21201 26,000 26,000 0
VEEIEIEPES 6,000 6,000 0
OHBINSR SEHZYl 6,000,0002! 6,000
04 DIANBARE 20,000 20,000 0
OofRI0lL 2RI A 20,000, 0002 20,000
402 PIZHRIZO0IH 30,000 0 30,000
01 PANEDE 30,000 0 30,000
OXHOISHE SANE BAMEAY X
2 1,000, 0002 *307H A 30,000
SRAL X2 637,718 727,677 89,959
201 Ysregyl 47,651 22,740 24,911
01 AtRZ2Ib] 46,931 20,700 26,231
O1.2er4gY| 13,400
~SRAIY QBT g0l 20,0002 %3002 6,000
~BRAE BAK QADIZIIE RO
1,400 +1,00004 1,400
2% U OSRIN EHF
20,0002 *100% 2,000
“2S U OISAIY YBSH|
4,000,0002 4,000
03.2g4% 5,800
“SSEMIAG I HALY
70,0002 ¥122 x53] 4,200
CERAL EANDE ALY
100, 00021 ¥22 ¥4 A| 25235 1,600
05. 22| 2,800




S HdIIEL

HE: OISES, IS N L O8=X SH(ANISN/2S - FELNS)
Sl OISESAY X & (5 &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
"ERULE ORIZERN 24
7,00021 *4% *102 103 2,800
O6.2xt8 24,931
“EEAl YOLORI0IY RE
24,930, 4002 24,931
00 B2 720 0 720
O1. 2223 YLHA 720
- BSAAE SUSAHHIA 60,0002 122 720
202 OfHl 4,800 4,800 0
01 =00l 4,800 4,800 0
O2SYLET DI EA O
60, 00021 42 x42 53] 4,800
01 YuBaZ 4,360 4,330 30
10 SAAHIZAS 4,360 4,330 30
OLSAIE ZAK REOHY)
60,0002 13 x22 1,560
OESALT 3l HET S4
7,00024 *200 x23] 2,800
307 I2tolH 580,907 695,807 A 114,900
00 LAANBE 10,000 138,500 128,500
SRAL BAX HALFAL B2
2HDE =W 1,000,0002 102 10,000
05 BIRSIES 570,907 549,307 21,600
OORI0IE ASRXII 3,248%1 #4528 14,707
ONEESAL FHARIR 21218 (L5t 0f
2101%) 900, 0002 12+ 122 10,800
ONEORI0IE 2] 180,000,0002 180,000
ORSHLHE 29| 9,000,0002 *122 108,000
OHASHE NYESAL Ly
1,200, 0002 ¥37H 2 3,600
ORSAIL ZAK 2405 6,000,00024 6,000
OSSALEIIIES X2 250,0002 *307 £ 7,500

OFHAXNY AMSESAE SAXR HRMA

]l 100,000 »7H 12 8,400

SEAESAL =AU 8,000, 000& * 12 8,000

1,000 «83Z 300 1Al 2t 24,900




SA

RSN

Bu: OS2SR, )15 N8 L GA=K 4 (MEIST/2S - IEL0A)
o9 OISEFAY X (SHol: &2l
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
ONel0ldE A= ZAt==Z
20,0003 »2H «300L *2 Al 24 24,000
ESAE HEASH| 500,000 *350H 2~ 175,000
SRAMNE SN (EX) 40,000 0 40,000
& 11,900
Al 28,100
307 QI2t0IA 40,000 0 40,000
& 11,900
Al 28,100
05 QIZtRE 3 40,000 0 40,000
OESFAESAMs K& 40,000, 000& 40,000
= 11,900
Al 28,100
FAHEHOAEERE(EX) 2,390,290 950,824 1,439,466
= 1,195,145
= 358,543
Al 836,602
307 glz2told 2,390,290 950,824 1,439,466
= 1,195,145
& 358,543
Al 836,602
05 QIZtRE 3 2,390,290 950,824 1,439,466
OFiH B8z K& 2,390,290,000& 2,390,290
= 1,195,145
= 358,543
Al 836,602
SN0 RAESZE(EX) 3,169,264 2,867,900 301,364
= 1,584,632
L= 475,386
Al 1,109, 246
307 2IZ2t0lA 3,169,264 2,867,900 301,364
= 1,584,632
& 475,386
Al 1,109, 246
05 QItEZ 3,169,264 2,867,900 301,364




SA

RSN

Bu: OS2SR, )15 N8 L GA=K 4 (MEIST/2S - IEL0A)
o9 OISEFAY X (eH9l: 22
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
OBBMIOH 2422 XI& 3,169,264,000& 3,169,264
= 1,584,632
& 475,386
Al 1,109, 246
DIZIBSAIE E]UA HR2MAHI(EX) 2,184,000 480,729 1,703,271
L= 280,536
Al 1,903,464
307 2IZ2t0lA 2,184,000 480,729 1,703,271
& 280,536
Al 1,903, 464
05 QIZtRE 3 2,184,000 480,729 1,703,271
ORZABSAIE EFWA HR2IHAU]
140,000& *1,300& 122 2,184,000
& 280,536
Al 1,903,464
DIZIESAIE DB FE(EX) 373,566 253,988 119,578
= 99,283
& 29,785
Al 244,498
307 glz2told 373,566 253,988 119,578
= 99,283
& 29,785
Al 244,498
05 QIZtREZ 373,566 253,988 119,578
ORIZESAIE WwW2Hl X
373,566, 000& 373,566
= 99,283
= 29,785
Al 244,498
SRAME HHR2IHI(EX) 216,092 179,782 36,310
= 108,046
& 32,414
Al 75,632
307 2IZ2t0lA 216,092 179,782 36,310
= 108,046
& 32,414




SA

RSN

Bu: OS2SR, )15 N8 L GA=K 4 (MEIST/2S - IEL0A)
o9 OISEFAY X (eH9l: 22
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
307 glz2told Al 75,632
05 QIZtREZ 216,092 179,782 36,310
ESAME NF23H X 216,092,000 216,092
= 108,046
< 32,414
Al 75,632
SSANE HRAHI(EX) 41,600 58,400 A 16,800
= 12,480
Al 29,120
307 glz2told 41,600 58,400 216,800
& 12,480
Al 29,120
05 BIZtREZ 41,600 58,400 216,800
OESA4 sl 41,600,000& 41,600
< 12,480
Al 29,120
NASSE IS BE|]E(EX) 26,922,480 13,030,852 13,891,628
= 13,461,240
& 4,038,372
Al 9,422,868
307 QI2t0IA 26,922,480 13,030,852 13,891,628
= 13,461,240
& 4,038,372
Al 9,422,868
05 QIZtREZ 26,922,480 13,030,852 13,891,628
ONASE HSEEE K&
26,922,480,000& 26,922,480
= 13,461,240
= 4,038,372
Al 9,422,868
0L RPAEER(EX) 1,669,816 1,370,600 299,216
= 834,908
= 250,474
Al 584,434
307 QI2told 1,669,816 1,370,600 299,216
= 834,908




S HdIIEL
g2 Ots2%, Jt5 Ad & Hg=X

-

0

AMBIEX/ES - IELUHA)

o9 OISEFAY X (eH9l: 22
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
307 glz2told S 250,474
Al 584,434
05 BIZtREZ 1,669,816 1,370,600 299,216
OO0+ 222 N 1,669,816,000& 1,669,816
2 834,908
[ 050,474
Al 584,434
HLS BR0Is 2HAHI(BX) 1,212,750 1,326,960 A114,210
= 214,425
Al 998,325
307 QI2t0IA 1,212,750 1,326,960 A114,210
= 214,425
Al 998,325
05 GIZtREZ 1,212,750 1,326,960 A114,210
OMAS E=F0ts 2tAHl X&
1,212,750,000& 1,212,750
= 214,425
Al 998,325
AWolE XE B2 XN (BX) 255,207 531,486 N276,279
= 76,562
Al 178,645
307 QI2t0IA 255,207 531,486 N276,279
= 76,562
Al 178,645
05 GIZtREZ 255,207 531,486 N276,279
OAMolIZE HEES= X 255,207,000& 255,207
= 76,562
Al 178,645
G2 XE BESAE UHH2IHI(EX) 4,800 4,667 133
& 1,440
Al 3,360
307 QI2t0IA 4,800 4,667 133
= 1,440
Al 3,360
05 GIZtREZ 4,800 4,667 133




0PI ==

L OISES, JHE ¥ 2 HEZX A (AERX/2S -

OIS ESAE XE

SA-EH O (BH) - HBAY - B2 gggf; HRS2
OLURIIEXNE BESAE IHEH2HEH|
4,800,000& 4,800
T 1,440
Al 3,360
HAS BER0ls A2 &HI(EX) 37,500 48,246 N10,746
== 11,250
Al 26,250
307 QIZ2+tolA 37,500 48,246 N10,746
= 11,250
Al 26,250
05 oIzt &E3ad 37,500 48,246 A 10,746
OMdAS Ex0ts A2 & H| 37,500,000 37,500
o= 11,250
Al 26,250
BS0lEs &0 XIIZEHI(EX) 4,800 6,720 A 1,920
== 1,440
Al 3,360
307 Q20| A 4,800 6,720 A 1,920
= 1,440
Al 3,360
05 oIzt &3z 4,800 6,720 A 1,920
OES0ts HM=J|I&S HEXH|
4,800,000& 4,800
& 1,440
Al 3,360
ZOHOF ESAIE SAIN EHSE(EX) 75,360 40,800 34,560
== 37,680
Al 37,680
307 Q20| A 75,360 40,800 34,560
= 37,680
Al 37,680
05 QIZIFE = 75,360 40,800 34,560
OOt BRAE BAX SBag
75,360,000& 75,360
o= 37,680
Al 37,680
AAEO0IS otH %= (BEX) 2,840 2,700 140
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S HdIIEL
g2 Ots2%, Jt5 Ad & Hg=X

-

0

AMBIEX/ES - IELUHA)

o9 OISEFAY X (eH9l: 22
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
AN&OotE StARUHEI(EX) S 855

Al 1,985

307 QI2toIA 2,840 2,700 140
= 855
Al 1,985

04 BIZtAHALE X 2,840 2,700 140
OAlE0ts StAH=&AH3 2,840,000& 2,840
= 855
Al 1,985

AMEOIS dM WEH(BEF)(EX) 4,500 4,500 0
= 1,350
Al 3,150

307 QI2t0IA 4,500 4,500 0
= 1,350
Al 3,150

05 BIZtREZ 4,500 4,500 0
OAlE0ts &M W= 150,000& 30 4,500
= 1,350
Al 3,150

ANE0IS WEXHHI(ES)(2X) 3,500 3,500 0
= 1,050
Al 2,450

307 QI2t0IA 3,500 3,500 0
= 1,050
Al 2,450

05 GIZtREZ 3,500 3,500 0
OAl&0ts W=AHHHI 50,000& *70& 3,500
= 1,050
Al 2,450

ANA0tS JlsusHI(EX) 2,220 3,000 AT780
& 1,800
Al 420

307 QIZ2t0IA 2,220 3,000 AT80
= 1,800
Al 420




S HdIIEL
g2 Ots2%, Jt5 Ad & Hg=X

-

0

AMBIEX/ES - IELUHA)

Sl OISR SAY X8 (5 &2
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Eﬁiﬁ Hws2
05 QISIES 2,220 3,000 780
OAE0IS JISDEHI(20%) 2,220,000 2,220
= 1,800
Al 420
AN&OLS A2 A THI(BX) 1,900 1,800 100
& 570
Al 1,330
307 eI2t0IH 1,900 1,800 100
= 570
Al 1,330
05 DIRISIE3 1,900 1,800 100
OANEO0IS A2 AT 1,900,0002! 1,900
= 570
Al 1,330
ANEOIE A4 B2lH(ZS)(2F) 4,860 4,860 0
= 1,458
Al 3,402
307 eI2t0|H 4,860 4,860 0
= 1,458
Al 3,402
05 DI2ISIE3 4,860 4,860 0
ONEOIE & ZelHI(£2S) X2
9,0002! #4582 122 4,860
= 1,488
Al 3,402
AEOIE M4 B2lH(ES)(2F) 4,320 4,320 0
= 1,296
Al 3,024
307 eI2t0IH 4,320 4,320 0
= 1,296
Al 3,024
05 DIR9IE3 4,320 4,320 0
ONEOIE &g ZelH(ES) X2
12,0002 +30% * 122 4,320
= 1,296
Al 3,024




SA
X XH .
(=

chel:

RSN
olseEs®, = 1
OISESAY X

Hd=A

A

-

oo

AMIEX/ES -

L RE-E

- SHRI(EAH) - NEAY - BE=

20
B
2

AIEOLE A4 B2lH(DS)(EF) 3,600 2,700 900
= 1,080
Al 2,520
307 eI2t0IH 3,600 2,700 900
= 1,080
Al 2,520
05 BIRSIES 3,600 2,700 900
OANEO0IE &4 ZelHl(2S) X2
15,0002 *202 *122 3,600
= 1,080
Al 2,520
EARA L ABHI( 2,850 2,700 150
& 855
Al 1,995
307 eI2t0lH 2,850 2,700 150
= 855
Al 1,99
05 BIRASIES 2,850 2,700 150
OAEOIS 2 bl X2
2,850,0002! 2,850
= 855
Al 1,995
AI&OLS 43t 0184t ( x) 840 500 340
= 252
Al 583
307 eI2t0IH 840 500 340
= 252
Al 588
05 DI2ISIE3 840 500 340
OANEO0IS +8018HI (£S) X2
70,0009 123 840
= 252
Al 583
AEOLS 43t Oi3HI(S x) 2,500 700 1,800
& 750
Al 1,750
307 eI2t0IH 2,500 700 1,800




SA

RSN

Bu: OS2SR, )15 N8 L GA=K 4 (MEIST/2S - IEL0A)
o9 OISEFAY X (SHol: &2l
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
307 2IZ2t0lA = 750
Al 1,750
05 QIZtEZ 2,500 700 1,800
OA40otEs st dHl(ES) XIS
100, 000& 259 2,500
< 750
Al 1,750
ANEOtS £8 Ebl(LS)(EX) 2,600 500 2,100
& 780
Al 1,820
307 glz2told 2,600 500 2,100
= 780
Al 1,820
05 QIZtEZ 2,600 500 2,100
OA40tEs =80l gdbl(nsS) XA
200,000& »13H 2,600
& 780
Al 1,820
OlSZEX2AMN XA(EX) 39,240 39,240 0
= 27,468
= 5,886
Al 5,886
301 Lptsazg 39,240 39,240 0
= 27,468
L= 5,886
Al 5,886
01 AME2HEE=063 39,240 39,240 0
OltsZEXd HHXE 39,240,000& 39,240
= 27,468
& 5,886
Al 5,886
OlSSXRAMIA XNA(EBX) 309,000 432,000 A 123,000
= 216,300
& 46,350
Al 46,350
307 QIZt0IA 309,000 432,000 A 123,000




SA

X{ ZH -
S =

RSN
OlsEs, JI5 Xd 2 4=

-

0

@ Ot SE=EAMY K& (St &)
SA-EH O (BH) - HBAY - B2 4 gggf; HRS2

307 Q20| A = 216,300
= 46,350
Al 46,350

05 oIzt &E3ad 309,000 432,000 A 123,000
O0tsE XA XI& 309,000,000 309,000
= 216,300
= 46,350
Al 46,350

OISE2XAIE 2H(EX) 851,800 771,351 80,449
o= 57,854
imi 396,973
Al 396,973

307 QIZtolA 851,800 771,351 80,449
= 57,854
imi 396,973
Al 396,973

05 QIZIRE = 851,800 771,351 80,449
OOt=EEXAIE 24HI(01) 851,800, 000& 851,800
T 57,854
mi 396,973
Al 396,973

QAANE dERLH(EX) 54,933 45,600 9,333
= 38,453
& 8,240
Al 8,240

301 LEEAS 54,933 45,600 9,333
= 38,453
& 8,240
Al 8,240

01 MIBEHFHZ2 54,933 45,600 9,333
OgYdots =9 54,933,000& 54,933
= 38,453
== 8,240
Al 8,240

XE0ot=sHE XN (EX) 670,032 456,000 214,032




SA

RSN

Bu: OS2SR, )15 N8 L GA=K 4 (MEIST/2S - IEL0A)

o9 OISEFAY X (SHol: &2l
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
ASEotsdH XNA(BEX) = 335,016

& 167,508
Al 167,508

307 glz2told 670,032 456,000 214,032
= 335,016
& 167,508
Al 167,508

05 QIZIRE 3 670,032 456,000 214,032
OXgotsdH 22| 670,032,000& 670,032
= 335,016
& 167,508
Al 167,508

ElA0tS NEHHZS(BEX) 25,000 15,000 10,000
= 7,500
mi 8,750
Al 8,750

301 YotEaz 25,000 15,000 10,000
& 7,500
mi 8,750
Al 8,750

01 ASIEEE=63 25,000 15,000 10,000

OfIA0ls NHEHEZ(01Y)

5,000,000& x5 25,000
= 7,500
i 8,750
Al 8,750

QESOE ISS8HES(EX) 77,367 75,336 2,031
= 30,947
& 23,210
Al 23,210

307 glztold 77,367 75,336 2,031
= 30,947
& 23,210
Al 23,210

05 QIZtEZ 77,367 75,336 2,031




SA

RSN

Bu: OS2SR, )15 N8 L GA=K 4 (MEIST/2S - IEL0A)
Sl OISESAY X & Rk
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
OREsls 158 2SI
38,683,500 27 2 77,367
= 30,947
< 23,210
Al 23,210
Ots=XAIE SAX =2(EX) 33,600 21,120 12,480
= 16,800
Al 16,800
307 QIZt0IA 33,600 21,120 12,480
& 16,800
Al 16,800
05 QIZtRE 3 33,600 21,120 12,480
OOtsS=XAIE SAL =€ 33,600
s e B = 80,0003 x25H 122 24,000
< 12,000
Al 12,000
NEEE = 40,0003 x20E «12& 9,600
< 4,800
Al 4,800
XNEOtSESHIII22Z KN(BX) 205,026 175,026 30,000
& 52,508
ml 84,018
Al 68,500
307 glz2told 205,026 175,026 30,000
& 52,508
i 84,018
Al 68,500
05 GIZtREZ 205,026 175,026 30,000
OXotsEs M2I/229H((01)
205,026,000& 205,026
< 52,508
u 84,018
Al 68,500
CEAEEAY(EX) 300,000 0 300,000
= 200,000
& 50,000




A LS
g2 Ots2%, Jt5 Ad & Hg=X

-

0

AMBIEX/ES - IELUHA)

BHel OtSESAE X (98
_ _ _ Muo
SNBSS - MBAY - BES 0 & 24 e {imE=Eh
CEAEEMS(ER) Al 50,000
101 1A 70,743 0 70,743
= 46,691
= 12,027
Al 12,025
10 JIZH22XAsSE+ 70,743 0 70,743
OEHARE dE0s XET 70,743
-8y 1,500,000 x3E 122 54,000
= 35,640
[ 9,180
Al 9,180
-AEE JI2RE=S 54,000,000& *9.45% 5,103
= 3,368
[ 868
Al 867
-GEFT0H 20,0002 x3&H 9«12 6,480
= 4,277
< 1,102
Al 1,101
-uSEFA 0| 60,0003 x3& 32 42 2,160
= 1,426
S 367
Al 367
-E &= 3,000,000& 3,000
= 1,980
S 510
Al 510
201 LEr23H] 109,687 0 109,687
= 74,394
S 17,647
Al 17,646
01 AtR2cidl 78,687 0 78,687
O1.&8t=2H| 68,439
-EZAEEHH 2] 8,439,000 8,439
= 5,570
S 1,435




SN OlAIFE D
HH: OS2SR, IS X L HA=X S (MISX/2S - ISL0Y)

ol OFSESAIY X8 (crel: &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
Al 1,434
-Z20g 2yl 60,000,000% 60,000
=2 39,600
< 10,200
Al 10,200
03.294+y 4,200
Vs 2YLY 70,0009 * 152 43| 4,200
=2 2,772
< 714
Al 714
O5. 232 6,048
~CYAEESY OA2RT Z4
70002 «6% * 122 « 12 6,048
= 3,992
= 1,028
Al 1,028
02 == 6,000 0 6,000
O1.BZ23LHA 5,000
-CYAEIEME ZBR2 S 5,000,008 5,000
= 3,300
< 850
Al 850
O3. NI ZZHIRXIHI 1,000
-SYAEE ARA AKX 22|
1,000,000 1,000
=2 660
< 170
Al 170
03 BAI2HI 25,000 0 25,000
OS2 &Ml & 8 Al 25,000,000 25,000
=2 18,500
< 3,250
Al 3,250
202 o1t 9,080 0 9,080
= 5,993
= 1,544
Al 1,543
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S HdIIEL
g2 Ots2%, Jt5 Ad & Hg=X

-

0

AMBIEX/ES - IELUHA)

o9 OISEFAY X (eH9l: 22
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
01 =LAl 5,580 0 5,580
OEEARE HRFAHYI
20,0003 x3H x4 123 2,880
= 1,901
= 490
Al 489
OEEABEAMNAG =2 s ¢
a] 60,0003 »3H 3 x53] 2,700
= 1,782
= 459
Al 459
04 =Mzt 3,500 0 3,500
OdflelHA+ ZHl 3,500,000& 3,500
2 2,310
< 595
Al 595
301 YPBAI 70,890 0 70,890
= 46,786
& 12,050
Al 12,054
01 A2 E =03 69,000 0 69,000
OEYAERE 8012 ALY XIZ
69,000,000& 69,000
= 45,540
= 11,730
Al 11,730
10 BAIAHIEANS 1,890 0 1,890
OEHHAERE UHASAMI S4
7,000& *30E 53| 1,050
= 693
= 179
Al 178
O==dIl& 5 MG 2elA 3o 24T =
A 7,000& 30 43| 840
2 553
< 141
Al 146
307 QIZt0IA 35,000 0 35,000
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S HdIIEL

Hu: OS2SR, IHE XY L GESK S (NIST/ES - HISU0S)
o9 OISEFAY X (el @)
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl &+ 04 Sl ko HRs2
307 2IZ2t0lA = 23,100
& 5,950
Al 5,950
02 QItFAE X 35,000 0 35,000
Osolz2Z20 2294 N
5,000, 000& *7IH 2~ 35,000
= 23,100
< 5,950
Al 5,950
405 XHAHE S| 4,600 0 4,600
= 3,036
= 782
Al 782
01 KAASEFSH] 4,600 0 4,600
O&E A0 200,000& 1= 200
2 132
& 34
Al 34
OHICI 23t 2t 1,200,000& * 12 1,200
= 792
& 204
Al 204
OZZ A A 200, 000& 8=~ 1,600
= 1,056
& 272
Al 272
OZz0d8A oAX 100, 000& *16 2= 1,600
= 1,056
< 272
Al 272
CHUABEMEH 29 114,384 0 114,384
101 oI2iy] 56,273 0 56,273
10 JIZHNZ2Z2NSE 56,273 0 56,273
OEEAERE d20d ZFA 56,273
-0l 1,500,000 x3Z 10 45,000
A2 2RE S 45,000,000 *9.45% 4,253
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S HdIIEL
g2 Ots2%, Jt5 Ad & Hg=X

-

0

AH(ABIEX/ES - Ot

B[
He
2
0x

e OtsSESAY X#A (ctel: &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2

- =X 20,000 x3E+92 + 10 5,400
—wSsEA N 60,0002 »3H 3 *32] 1,620

401 Al &HIZ2C0HYI 22,000 0 22,000

01 AIZH] 22,000 0 22,000

OMNSA 228e U B2TA

22,000, 000& * 14 22,000

405 XH&HFE SHI 36,111 0 36,111

01 T ESHSHI 29,111 0 29,111
OZzda ¢ 2 HES7L 10,194
—ZH A 200,000& 15 % 3,000
-9 Xt 100,000 *30= 3,000
-H2EFE D[ (20Z0]2tH) 2,097,000 *2CH 4,194
OARd 257 18,917
-AFH 1,350,000 *3CH 4,050
-H = ALDI 4,000,000 = 1CH 4,000
-LES 2,000, 0002 *1CH 2,000
-4t 200,000& 5% 1,000
-HI0I= 300, 000& »22= 600
NS =i\ 100,000& 5% 500
-QIE oIt 180,000 *10& 1,800
-H2EFE D[ (20Z0]2H) 2,097,000& = 1CH 2,097
-HED 520,000& 1CH 520
-& 30| 50,000& 5% 250
—SAIE ST 700,0003 = 1CH 700
-IHHIK 200,000 =504 1,000
-2 200,000 *2J4 400

02 S M7 7,000 0 7,000
O A7t 7,000,000 14! 7,000

AEAETIE U JIESS0IE 2B 0I#Y| (2 X) 2,760 0 2,760
= 828
Al 1,932

301 getEazg 2,760 0 2,760
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SA

RSN

HE: OISES, IS N L O8=X SH(ANISN/2S - FELNS)
©9l: OISESAIY X2 (S5 &)
RA B SA(BH) - NRAY - B 01 e HRE2
01 YL = 828
Al 1,932
JEEEEESE 2,760 0 2,760
OAHAEIY L IIHIALOIS 8018
bl 2,760
=i 70,000 *8% 560
= 168
Al 392
530 100, 0002 * 123 1,200
= 360
Al 840
ani=t ! 200,0002 *5% 1,000
= 300
Al 700
AEAEINE 2 HFASOIS DY (2X) 5,250 0 5,250
= 1,575
Al 3,675
01 YL 5,250 0 5,250
& 1,575
Al 3,675
JIEEEEETE 5,250 0 5,250
OAEAEIE U ™SOS D=
50,0002 3523 5,250
= 1,575
Al 3,675
ANZ0I0IBOIS LKA (2X) 591,562 0 591,562
2 295,781
= 88,732
Al 207,049
01 YA 591,562 0 591,562
2 295,781
= 88,732
Al 207,049
IIEEEEETE 591,562 0 591,562
OAN&DI0IB0IE SRR 591,562, 0002 591,562
2 295,781
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SA
X XH .
(=

chel:

RSN
olseEs, s XId 2 oy

Ot=2sAe K& AR
SN HH G (EH) - MBAY - BYS o e 2
= 88,732
Al 207,049
ERSSMEIA(EX) 5,195,870 5,195,870
= 2,597,935
L= 779,380
Al 1,818,555
307 2IZ2t0lA 5,195,870 5,195,870
= 2,597,935
= 779,380
Al 1,818,555
05 QItEZ 5,195,870 5,195,870
OBss==sMHlA XA 5,195,870,000& 5,195,870
2 2,597,935
= 779,380
Al 1,818,555
HEXNAANE DDA XS (BX) 35,680 35,680
& 3,204
Al 32,476
307 glz2told 35,680 35,680
& 3,204
Al 32,476
05 QIZtEZ 35,680 35,680
OFSXALE DUB2H X2
35,680,000 35,680
& 3,204
Al 32,476
ZOISESANELL2XNA(EX) 18,960 18,960
& 5,688
Al 13,272
307 glz2told 18,960 18,960
& 5,688
Al 13,272
05 QIZtEZ 18,960 18,960
OHMNOISHIAIL Y42
18,960,000& 18,960
& 5,688
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SA

RSN

HH: OS2SR, S N & BA(MNBIZN/ES - S
Sl OISESAY X & (S5 &)
SN HB G (BH) - MRAY - BES e Hlm= 2
Al 13,272
SEEHRUI0IZ (EX) 5,000 5,000
& 435
Al 4,565
202 O4dl 5,000 5,000
& 435
Al 4,565
04 =H3stbI 5,000 5,000
OE=gS #Xx ot 2,500,000& x2Z 5,000
< 435
Al 4,565
e LA (BX) 100,800 100,800
T 9,492
imi 45,150
Al 46,158
301 YEtEAE 100,800 100,800
L= 9,492
mi 45,150
Al 46,158
01 AMIEBEHESGZ3 100,800 100,800
OJtE=8 s 70,0003 x120F =12 100,800
= 9,492
m 45,150
Al 46,158
AEAEHNEXRA(EX) 8,400 8,400
& 840
w 3,000
Al 4,560
301 YBtEa= 8,400 8,400
= 840
imi 3,000
Al 4,560
01 AMIEBHEHESGS3 8,400 8,400
OAEAEIEXI (0l
70,0003 x10Z «12& 8,400
== 840
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SA

RSN

Bu: OS2SR, )15 N8 L GA=K 4 (MEIST/2S - IEL0A)
o9 OISEFAY X (eH9l: 22
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
imi 3,000
Al 4,560
2]JIs 2 297,380 161,190 136,190
= 148,690
L= 44,606
Al 104,084
BAE JIsEZ(EX) 297,380 161,190 136, 190
= 148,690
= 44,606
Al 104,084
307 QI2toIA 297,380 161,190 136, 190
= 148,690
= 44,606
Al 104,084
05 QIZtREZ 297,380 161,190 136,190
OESAE JIsE2| 297,380, 000& 297,380
= 148,690
= 44,606
Al 104,084
HEXE 2,095,414 3,590, 184 A1,494,770
= 893,503
Il 37,960
= 417,191
m} 138,962
Al 607,798
old 25 & X g4 67,854 93, 160 225,306
w 12,600
Al 55,254
201 ZEH2EH| 10,334 10,800 A 466
01 AtR2cldl 10,334 10,800 A 466
O1.2et===4| 2,000
“FENRAS S Lot=Z | 2,000,000& 2,000
O2. A u=| 3,574
-HE=EXNER 2EESRY NESEH
60,0003 x2H 120
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SN EIIED
E: OS2, 15 N L HESK SH(ASX/2S - IEL0Y)
9l PSR (Er9): & 2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES 0 Ak o4 il b o bRz
"SRESAIE 0FS YOS ASuSH|
33,2102 %1% %24l 24#525 3,454
03.294+% 3,640
~SNESAIL0IS BMEHDE SAS
o 70,0002 %12 %Al 24522 3,640
05.32 | 1,120
“AET YRR 24
7,0002! %2 +82 * 103! 1,120
202 oft 2,040 2,400 A360
01 =LHolbl 2,040 2,400 360
OO&=T ARET0!L|
60,0002 +22§ x32! +33] 1,080
ONENY LT A3l A0
60, 00021 %2 x22 #43] 960
01 YBEH 50,480 74,960 A24,480
D 12,600
Al 37,880
IIEEEEEYE 44,840 70,640 25,800
OSNLBAILE(LHITR) AL
60, 0002 *23 K| H x33] 4,140
OSTESAIE Z- 1D Yty D=yl
50,0002 62 900
OSTESAIE ARYLMU LA &
L] 300, 00024 *6 A1 Ch 1,800
OPMEBAIL SAT HREI(01)
3,000,002 *6% 18,000
D 12,600
Al 5,400
O2.2RIIE JNSDEHAT 4|
500, 0002 %102 x42 20,000
00 BA2RLALAI 1,320 0 1,320
OSNESAE U222 SAY)
5,0002!* 1% %222 +122 1,320
10 BAMHIEAS 4,320 4,320 0
OSTESAIE SAX DF0HY)
60,000 %32 x221 +23] 720
OSES 2.2XIHY 423 FAX Ol
60, 00021 *2% * 15K T 22 3,600
307 212t0IH 5,000 5,000 0
EEEE 5,000 5,000 0
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S 8IS
Ha: OISES, JHE U@ 2 Ol8=X S4(ASI=SN/25 - ISL0)
el =X (E49: & 2)
_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 HwsZ
SEFFEEEEECFD 5,000,000 5,000
OISR20l 2% NA(2X) 120,940 138,000 A17,060
= 84,657
= 18, 141
Al 18,142
101 Q12| 22,615 29,808 A7,193
= 15,829
= 3,302
Al 3,394
10 JIHN2ENSE+ 22,615 29,808 A7,193
OOHOIS 20| HEole 22,615
~oIsrg| 1,600,00021 * 12 +12% 19,200
= 13,440
= 2,880
Al 2,880
R 1,600,000 1,600
= 1,120
= 240
Al 240
-AUEE JIBRe3 19,200, 0002 9. 45% 1,815
= 1,269
= 272
Al 274
201 Y2yl 10,900 13,978 ~3,078
= 7,630
= 1,635
Al 1,635
01 At 22l 10,900 13,978 ~3,078
O1.2er4+gH| 5,500
OIS 2OIAY 222 ME  3,000,0002 3,000
= 2,100
= 450
Al 450
0Ll S 20IAY YBragH| 2,500,00084 2,500
= 1,750
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SA

RSN

B OlS2R, JIE N U 0= SA(MSIZI/2] - ISUCHA)
£r9l: IS X8 (Er9): &2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
< 375
Al 375
03.28=% 5,400
-O0IS 20| dHUE A=Y
200, 000& 3 *53] 3,000
= 2,100
= 450
Al 450
-Ol0IS 20| BEus A=
200,000& *1E %123l 2,400
= 1,680
= 360
Al 360
202 Od4Hl 2,880 2,880 0
= 2,016
= 432
Al 432
01 3LUAbI 2,880 2,880 0
OOI0IS=20IAMY S EEC (]
60,000 x3& 4 43 2,880
= 2,016
= 432
Al 432
301 Lpt8aazg 80,545 88,134 AT,589
= 56,382
= 12,082
Al 12,081
10 dAIAMHIEAZ 80,545 88,134 AT,589
OOLOIS 20| YHIS EAT 0t
60,0003 x20H 63| 7,200
= 5,040
= 1,080
Al 1,080
OO0l0I==20| BExns FAX AHI24
20,000& x50 122l 12,000
= 8,400
= 1,800
Al 1,800
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A
X XH .
(=

el

RSN
olses

=,

HE XNE & L=

A

-

0

A(MEIEX/BR - IS

e a2l
SN EY O (BH) - MRAY - BLS e
OOtoI==20l s 44X =4
7,000& x50 »123] 4,200
= 2,940
= 630
Al 630
OOt0I=20IAY &3 AHI24
57,145,000& 14 57,145
= 40,002
== 8,572
Al 8,571
307 2IZ2t0lA 4,000 3,200 800
= 2,800
= 600
Al 600
06 23 4,000 3,200 800
OOLOIS 20l &3h.tha2E R
80,000& x50 4,000
= 2,800
= 600
Al 600
Seags 2IXNA(BR) 95,558 93,378 2,180
= 47,779
& 23,889
Al 23,890
307 220N 95,558 93,378 2,180
= 47,779
& 23,889
Al 23,890
05 QIZIRIE 3 95,558 93,378 2,180
Ossags 2918 95,558, 0002 * 17§ £ 95,558
= 47,779
< 23,889
Al 23,890
SIERIE SIAIEdAAX 24 L AFH(BEX) 4,500 4,500 0
L= 1,350
Al 3,150
301 getEazg 4,500 4,500 0
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SA

RSN

BH: OS2SR, )15 N8 L GA=K 4 (MEIST/2S - IEL0A)
&Rl HEXH (el =3
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
301 YEtEa= S 1,350
Al 3,150
01 AMIEBEHESHZ3 4,500 4,500 0
OstRZ2IIE SXNAIZYLT BA & ZE
Bl (0l2) 50,000 90 4,500
= 1,350
Al 3,150
SIRDIE SXAME2IXA(BX) 188,600 179,723 8,877
= 24,518
w 126,362
Al 37,720
307 QI2t0IA 188,600 179,723 8,877
= 24,518
w 126,362
Al 37,720
05 QIZtREZ 188,600 179,723 8,877
OStRE2IIE SXAE29X2(01Y)
188,600, 000& *1JH 2~ 188,600
= 24,518
mi 126,362
Al 37,720
SOHOH T REXR(EX) 14,357 6,200 8,157
= 10,050
= 2,153
Al 2,154
307 QI2toId 14,357 6,200 8,157
= 10,050
e 2,153
Al 2,154
05 QIZtREZ 14,357 6,200 8,157
O&OHO0H LWoH At A=XI& 14,357,000& 14,357
2 10,050
= 2,153
Al 2,154
HEZHHQ F2ASAISE(EX) 10,000 10,000 0
= 5,000
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S HdIIEL
g2 OtsE2E=, Jt5 Nd & Hg=X

-

0

AMBIEX/ES - IELUHA)

cHol: JpE (et9l: 22
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
OO ASFASAIYE (EX) = 2,500

Al 2,500
307 glz2told 10,000 10,000 0
= 5,000
& 2,500
Al 2,500
05 BIZIRIES 10,000 10,000 0
OLZOC ARIEH =t XA
10,000,000& * 170 2 10,000
= 5,000
o= 2,500
Al 2,500
U DL MEHEI(BEX) 6,800 5,600 1,200
& 6,000
Al 800
301 YotEaz 6,800 5,600 1,200
& 6,000
Al 800
01 AMSE2EH=EZ3 6,800 5,600 1,200
O Oog ML K& 6,800,000& 6,800
== 6,000
Al 800
HAS0HA JlzunsHl(EX) 6,000 3,000 3,000
& 4,000
Al 2,000
301 dotEaz 6,000 3,000 3,000
& 4,000
Al 2,000
01 AMIIEBHEHESGZ3 6,000 3,000 3,000
OMASHA JlsWsHl XS
1,000,000& x6H 6,000
== 4,000
Al 2,000
HLINME XN AL 2E(BX) 276,501 276,000 501
= 138,250
= 69, 125
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SN EIIED
HH: OS2SR, IHE XY L GESK S (NIST/ES - HISUH)

S9l: ISR (S5l &2
SN EB -GS - MBAY - BES 0 & 24 e HRE2
ALNFNVME 2Y(2F) A 69,126

101 o124t 183,912 153,029 30,883
2 91,955
= 45,978
A 45,979
10 JAMIENS24 183,912 153,029 30,883
OAINF A 183,912
23 136,800, 00024 136,800
2 68,400
= 34,200
Al 34,200
NASDRAG 7,457 7Y #20AI 212 2,528
2 6,264
= 3,132
Al 3,132
-gozesd 56, 1752 842! 4,719
2 2,359
= 1,180
Al 1,180
~oi x4 56, 66021 %7 % *92 3,570
2 1,785
= 893
Al 802
R 11,400, 000! 1,400
2 5,700
= 2,850
Al 2,850
ATRE JI2RES 157,617,0002%9.45% 14,895
2 7,447
= 3,723
Al 3,725
201 Ysr2gy) 51,659 66,031 ~14,372
2 25,830
= 12,915
A 12,914
01 ArRaelH| 27,259 36. 149 8,890
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S HdIIEL
g2 OtsE2E=, Jt5 Nd & Hg=X

-

0

AMBIEX/ES - IELUHA)

£r9l: IS X8 (Er9): &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
O1.YbBt=2H]| 17,779
NI NLLEIAY S22 HH
10,000,000& 10,000
= 5,000
o= 2,500
Al 2,500
AYNFTAME 4B
7,779,000& 7,779
= 3,890
& 1,945
Al 1,944
O2. 2 e x| 1,800
-AFHBIAE W= 180,000& »3H 540
= 270
== 135
Al 135
-MBTI W=l 180,000& x4H 720
= 360
== 180
Al 180
AL IS X JAEE JIE W=HI
180,000& *3H 540
= 270
= 135
Al 135
O5. 2 &l 5,880
~ALIE XN EE SAX 24
7,000 *7H*10 *12& 5,880
= 2,940
T 1,470
Al 1,470
O6. 2 xt& 1,800
AZIENEME TRy 2% Y
Xt 450,000& x 10 x4 3] 1,800
2 900
= 450
Al 450
02 =32gH| 10,800 7,882 2,918
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SA

RSN

B OlS2R, JIE N U 0= SA(MSIZI/2] - ISUCHA)
@ IIEXA (St &)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
O1.2Z2222 A 9,000
AL IEXN A s8322 9,000,000& 9,000
= 4,500
< 2,250
Al 2,250
O3. A& E#HI KX bl 150,000& x12& 1,800
= 900
o= 450
Al 450
03 SHAI2FEHI 13,600 22,000 A8,400
OEz &HA HAI2SYI 13,600,000 13,600
= 6,800
T 3,400
Al 3,400
202 O4H| 27,360 26,640 720
= 13,680
= 6,840
Al 6,840
01 ZUWdH| 27,360 26,640 720
OALINHA 2R 01
20,000& x7H»9 x 128 15,120
= 7,560
o= 3,780
Al 3,780
OsLHEH WEAAG]
60,000& *3H *52 x4 3] 3,600
= 1,800
o= 900
Al 900
OXg=& | 60,000 *3H x4 2 x4 3| 2,880
= 1,440
o= 720
Al 720
OStE2AIY &€& #FHEI™ &It I
60,000& *3H x4 2! x83] 5,760
= 2,880
o= 1,440
Al 1,440

_36_




SA

RSN

BH: OS2SR, )15 N8 L GA=K 4 (MEIST/2S - IEL0A)
cHol: JpE (S92l
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
301 YEtEa= 6,020 6,700 A 680
= 3,010
= 1,505
Al 1,505
10 SAIAHIEAS 6,020 6,700 2680
Oadzstus Z20d &K =4
7,000& x100Z 53| 3,500
= 1,750
& 875
Al 875
OJIESAE 28 =4 7,000& *30E «123] 2,520
= 1,260
& 630
Al 630
307 glz2told 5,600 11,000 5,400
= 2,800
& 1,400
Al 1,400
05 QIZtREZ 5,000 0 5,000
OJtEel & &dAt 5,000,000& 5,000
= 2,500
= 1,250
Al 1,250
06 23 600 1,000 2400
O#ALEILAL Aol E2E It 2,000& x300H 600
= 300
& 150
Al 150
405 THAHHE SHI 1,950 12,600 210,650
= 975
& 487
Al 488
01 T ESHSHI 1,950 12,600 A 10,650
OZ&FH ¢ 1,350,000 = 1CH 1,350
= 675
& 337
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SA

RSN

BH: OS2SR, )15 N8 L GA=K 4 (MEIST/2S - IEL0A)
cHol: JpE (et9l: 22
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
Al 338
Oa 2¢ 200,000 =24 400
= 200
= 100
Al 100
oot 7¢ 100,000 =24 200
2 100
= 50
Al 50
ASIHHSI(EX) 3,000 3,000 0
& 900
Al 2,100
307 gQiz2tolA 3,000 3,000 0
& 900
Al 2,100
05 BIZIRIE S 3,000 3,000 0
O2Z3ESAE & 3,000,000 *1JH & 3,000
< 900
Al 2,100
SIRRIE g X3 (BEX) 34,000 34,000 0
= 10,200
Al 23,800
301 getEazg 34,000 34,000 0
& 10,200
Al 23,800
01 ASIE2EE =63 34,000 34,000 0
Oste2It=E e 3 2,000,000& 17 34,000
& 10,200
Al 23,800
SIREIE Tt 2= WSsH XNA(EX) 289,781 252,553 37,228
= 231,825
& 28,978
Al 28,978
301 YotEa= 289,781 252,553 37,228
= 231,825
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SN OlEIED
Hy: OISES, IE MY L 02X

-

0

AMBIEX/ES - IELUHA)

cHol: JpE (et9l: 22
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRSZ
301 et2AZ3 T 28,978
Al 28,978
01 MIBEHHHZ2 289,781 252,553 37,228
OstR2IIETHH dF U] 289,781,000& 289,781
= 231,825
& 28,978
Al 28,978
SRS IH srgst=2(EX) 41,000 60,000 A 19,000
= 10,800
Al 30,200
301 Et8A= 41,000 60,000 A 19,000
= 10,800
Al 30,200
01 MIBEHHHZ2 41,000 60,000 A 19,000
OstE2IIE AdUsr st = (18H)
41,000,000 41,000
o= 10,800
Al 30,200
SHERIIE sdHad|(BX) 140,000 90,000 50,000
& 42,000
Al 98,000
301 Et8A= 140,000 90,000 50,000
= 42,000
Al 98,000
01 MIBEHHHZ3 140,000 90,000 50,000
Ost22Its gE=sdHIdl N3
200,000& *700H 140,000
o= 42,000
Al 98,000
SHERIIE st S2EH(BX) 66,000 55,500 10,500
= 19,800
Al 46,200
301 Et8A=3 66,000 55,500 10,500
= 19,800
Al 46,200
01 MIBEHH=HZ3 66,000 55,500 10,500
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SA

RSN

MU OISES, IHE N L HE=X FA(AI=X/ES - ISL0Y)
cHol: JIEX (B9l &9
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Egﬁ Hws2
OIS stastg 2| 66,000,00024 66,000
< 19,800
Al 46,200
SRUBSAE YN SHAHSREI(2X) 4,800 4,800 0
= 1,440
Al 3,360
301 YsrEAZ 4,800 4,800 0
= 1,440
Al 3,360
10 BAFAHI2AZ 4,800 4,800 0
OBERIIESNAIE LAH 5142
(012) 208, 690! *23HI CH 4,800
< 1,440
Al 3,360
BERIIE SXAE BSANLY(EX) 6,720 6,720 0
= 3,360
Al 3,360
307 SI2t0lH 6,720 6,720 0
= 3,360
Al 3,360
05 IAPIErZ 6,720 6,720 0
OBSDIIE SXAE SAXLY NS
746, 6609 9% 6,720
< 3,360
Al 3,360
HHES ML SYNA(RE) 202,648 140,740 61,908
= 83,824
= 44,412
Al 69,412
307 QI2H0lH 202,648 140,740 61,908
= 83,824
= 44,412
Al 69,412
05 BIRASIES 202,648 140,740 61,908
OJF=Zses 29 X 202,648, 0002 202,648
= 88,824
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SA

RSN

BH: OS2SR, )15 N8 L GA=K 4 (MEIST/2S - IEL0A)
cHol: JpE (et9l: 22
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
= 44,412
Al 69,412
HdEH4YL 2R (BX) 59,216 57,870 1,346
= 29,608
L= 14,804
Al 14,804
307 2IZ2t0lA 59,216 57,870 1,346
= 29,608
= 14,804
Al 14,804
05 QItEZ 59,216 57,870 1,346
OdZsags 2ATd
59,216,000& *1JH 2 59,216
= 29,608
& 14,804
Al 14,804
SOHOH HIoHA aetd 29 X2 (EX) 116,630 113,600 3,030
= 58,315
& 17,494
Al 40,821
307 QIZt0IA 116,630 113,600 3,030
= 58,315
& 17,494
Al 40,821
05 BIZtREZ 116,630 113,600 3,030
O&OHOH mohAt &5 29 XN
116,630, 000& * 1 & 116,630
= 58,315
& 17,494
Al 40,821
IIEES Oolkd BEsAld 29 XA(BX) 65,030 62,240 2,790
= 45,521
& 9,755
Al 9,754
307 glztold 65,030 62,240 2,790
= 45,521
& 9,755
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SA

RSN

BH: OS2SR, )15 N8 L GA=K 4 (MEIST/2S - IEL0A)
cHol: JpE (S92l
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
307 2IZH0IA Al 9,754
05 QIZIFE= 65,030 62,240 2,790
OJIEZH OIolA EsAld &9 K&
65,030,000 * 11 2~ 65,030
= 45,521
= 9,755
Al 9,754
JIA HdZ&ATIoi A 22H] K| (EX) 6,000 6,000 0
J| 3,000
& 1,500
Al 1,500
307 QIZtolA 6,000 6,000 0
| 3,000
& 1,500
Al 1,500
05 QIZIRE = 6,000 6,000 0
OJId . 4Z=Toll X 2=
6,000,000 x 14! 6,000
J| 3,000
== 1,500
Al 1,500
Lo KA RSEHA(EX) 2,800 2,800 0
J| 1,960
== 420
Al 420
307 Q20| A 2,800 2,800 0
J| 1,960
= 420
Al 420
05 oIt 2,800 2,800 0
OUGHR = 2 & 2t 2,800,00021 %174 £ 2,800
J| 1,960
o= 420
Al 420
JIoH At DAEXZE T2 2AE(EX) 37,144 23,160 13,984
J| 26,000
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S HdIIEL
g2 OtsE2E=, Jt5 Nd & Hg=X

-

0

AMBIEX/ES - IELUHA)

CHel: J|E X2 (25 8 8)
S BB (EH) - NEAY - BAS b HInE
ol &t o
IR n¥XE T2 18 29(EX) & 5,572
Al 5,572
307 2IZ2tolA 37,144 23,160 13,984
J| 26,000
& 5,572
Al 5,572
05 QIZIRIEZ 37,144 23,160 13,984
OISR DHXZ D2 2
37,144,000 14 37,144
J| 26,000
o= 5,572
Al 5,672
oA XI2g2 T20d S2H(EX) 10,000 10,946 A946
| 7,000
= 1,500
Al 1,500
307 QIZt0l A 10,000 10,946 2946
| 7,000
& 1,500
Al 1,500
05 QIZtRE 3 10,000 10,946 A946
OWMK XBs= Ze e 2o
10,000, 0003 =104 2 10,000
| 7,000
& 1,500
Al 1,500
ZONOF JIF Ot Y=RXA(BX) 131,005 0 131,005
= 91,703
& 39,301
Al 1
101 QI Z4H| 22,615 0 22,615
= 15,830
& 6,784
Al 1
10 JI2ZHHZ2Z2NsSEs 22,615 0 22,615
OROOILBTBAIY HEOI 22,615
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S HdIIEL

BH: OS2SR, )15 N8 L GA=K 4 (MEIST/2S - IEL0A)
£r9l: IS X8 (Er9): & 2)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
-1 1,600,000 x1E+ 123 19,200
= 13,440
= 5,760
=R 1,600, 000& 1,600
= 1,120
= 480
-AHEE JI2RE3 19,200, 000& *9.45% 1,815
= 1,270
[ 544
Al 1
201 ZEH2IH] 15,730 0 15,730
= 11,010
& 4,720
01 Atf2teld 5,730 0 5,730
O1.get=Z4] 2,322
“HOHOIYSAAAY LutgY)
2,322,000& 2,322
= 1,625
= 697
03.2&8=¢ 2,400
-SZOHOIESXAAMNY =0l Exus &
Ab==& 200,000 18122 2,400
= 1,680
= 720
O5. =&l 1,008
“SZOHOILSXJAANY e =4
7,0003 1H 12«12 1,008
= 705
< 303
03 &Ar2ZHI 10,000 0 10,000
OZO0OIE SAXY Z20H 29
5,000,000& *23| 10,000
= 7,000
= 3,000
202 OdHl 2,640 0 2,640
= 1,848
= 792




SN EIIED
Hy: OISES, I N L OE=X S (MIZX/2S - HEU0A)
9l PSR (9l & 2

-

oo

_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES O AF K loﬂ/i\_Fo” Hos
01 3UWAbI 2,640 0 2,640
OZOHotE=X& oA SE&0]
60,0003 »2H x2 x63] 1,440
2 1,008
= 432
OHMHOILESXAAY SL WS
60,0003 »2H x2 x53] 1,200
2 840
== 360
301 ptsaazg 88,740 0 88,740
= 62,119
[ 26,621
10 SAIMHIZAS 88,740 0 88,740
O&MotEs =201 =G
60,0002 162 123 11,520
= 8,064
o= 3,456
OXMot=s =<0/ 3o &AX 24
7,0002 x20% «123] 1,680
2 1,177
== 503
OX¥Mot=s =<0l &=Hl 24
6,000 45 x230Al 2 62,100
2 43,470
== 18,630
O&Mot=s =<0l &= nsSl
7,000 * 16 103|122 13,440
2 9,408
= 4,032
307 2I2t0IA 1,280 0 1,280
= 896
[ 384
06 283 1,280 0 1,280
OZOOtLEXNHAE SS <0l Ao . i
MEER 80,0002 *16% 1,280
= 896
== 384
SOHOH TEHX XIRAE XA (2X) 88,530 0 88,530
= 61,971
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SM: OAIIED
BH: OS2SR, )15 N8 L GA=K 4 (MEIST/2S - IEL0A)
cHol: JpE (S92l
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
A0HOH TIGHA XJAAAE K2 (EX) = 13,279
Al 13,280
307 glz2told 88,530 0 88,530
= 61,971
& 13,279
Al 13,280
05 BIZIRIES 88,530 0 88,530
OSOHOHIIGH X N2 AIE2H
88,530,000 * 101 2 88,530
= 61,971
= 13,279
Al 13,280
Had B5 L SH(AMISX/00 - FHAH) 3,277,335 3,097,854 179,481
= 69,700
s 684,000
| 91,548
& 85,077
Al 2,347,010
FaE=K XA 1,834,664 2,505,999 A671,335
s 204,000
Il 48,000
& 34,950
Al 1,547,714
A8 3ad 84 221,140 164,928 56,212
201 Let3| 21,700 11,488 10,212
01 At 2teld] 21,700 11,488 10,212
O1. get==2H| 11,600
—“HAESTAME Let+=ZH| 6,000,000& 6,000
-HAES €38 =8 4,000& 40004 1,600
-HAEO g(58) 1,000
HEW HE 25,000& »30H 750
=2 M 50,000 *5I4 250
“HAELAHUY 2 LuLaY|
3,000,000 3,000
03.2¥8=% 10, 100
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DOl E D
D HAY B5 Y SHMIEX/0 - HAH)
; HaE=x K8

A3 - 22A(ZAH) - MBAY - BE=S

22
J2

20
B
2

“HAUNE =3 WF At

100,000 33 SHS 3,300
~HAESER GHIEZ2OY 29 2AS
=3 6,800
HAE ol FEA 200, 0002 *2%H *103] 4,000
C AT EHEND | (FY)
100,000 x1H %103 1,000
SME (=)
30,0002 *2 Al 2t*3Z %103 1,800
202 OfH] 4,320 4,320 0
01 =2UH0ib 4,320 4,320 0
OFAE ANMSH AR=T0H
60,0002 *3H 42! x63] 4,320
301 Lo A= 3,720 3,720 0
10 SALAH 2 A 3,720 3,720 0
OHAE NHEMESS EIMK K|
60,0002 10 3 1,800
OFAYE ZIAMESHAF EIHAL G|
60,000 *8H x43| 1,920
307 gIZrol® 191,400 145,400 46,000
02 QIZtHFAEXR 66,000 20,000 46,000
OFAY HAME A2 1,000,000 x16Y 16,000
OFAE HE oA 50,000,000 50,000
04 QIZISHAIE X 64,000 64,000 0
OESA HAEIIE HESH 20,000,000 20,000
ORQd N&Y)| =y 5,000,00024 5,000
OZSAIZH EAE 2)He2 s203
5,000,000 5,000
OZSHAIZH H@AaE Z&03 5,000,000 5,000
OLZSAIRH HAE EERHA A3
5,000,000 5,000
OFAYE XeAXED 2
3,500, 0002 *43] 14,000
OLEAl HAEHIIE A22D| 3l
10,000,000 10,000
05 olztelet=z 61,400 61,400 0
ORZEFAUEUAL 0|2 T2 29
16,400,000 16,400
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od
’J
oF
oJ

e

n0

KIo

Bl w

N290

40
1,240
A 330
A 330

71,743
619
619

H3r
uiled!
pak=

24,150
4,600
3,400
8,550
7,950

600

11,000
3,000
8,000

75,921
16,981
16,981

=
o

s

<J

30,000
15,000

23,860
4,640
4,640
2,400
2,400
2,240
2,240
8,220
7,620
4,620
3,000

600
600

11,000
3,000
3,000
8,000
8,000

147,664
17,600
17,600

2,010

5,025

3,015

30
O

0

Al
)
iy

nr

10

==
1o
J

N
R0

30,000,000&
15,000,000&

o
T
)
3

3

3

3

HES#2

=2
=

3,000,000&
8,000,000&

2,000 ~6Z5 #2005

60,0003 x25& *2
200,000& »3¥H

7,000 4B «8L %10
LA o4l

4 %10 330K

e
=

[=)

[=]
[uinsd

F

]
7,000
3

O5.5

12 JIEt

301

80
OH
oFJ
il
3+
Il
3

10 JIZH22AsSEF

ol
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%0
R0
o
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il
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J
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iRO
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33,5003 x3& 20

IF

oJ

4
KO
[}
)
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=
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2 *x1& %150

e
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4
K0
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)
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3
R0
40
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=

1124 x90

=
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33,500
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SM: OEIHEDL
ol HAW 25 Y S (MISX/ 0 - FAA)
cel: Bad=x 1d CLEE

[=}
[uind

_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
206 2l 6,500 1,200 5,300
T 6,500 1,200 5,300
OFAUSEY 29 HIIWE
600, 0002 x27H A 1,200
OFZL MAREIN BD Z208 2% X
2 3,100
OHEEE T 50,0002 *30KI £ 1,500
Qb F 4 A IR 500,000 *2JH 1,000
~HAR Jfelorly EX B 20,0002 304 600
OBAHE HFHPT2IY 28 2E2Y
50,0002 204 1,000
OFZ SHMBT2IY 29 W 7Y
2,000% +20% 35 103 1,200
401 Al&HI L2 30,324 7,500 22,824
01 Al&H] 30,000 7,500 22,500
OFBZHLULUY 2T FHIAL
30,000, 00021 *14] 30,000
03 Al&=Hl 324 0 324
OFPEBZHLELUNY 2SSF JHIAMY Al
EE N 30,000, 0002 +1.08/100 324
405 XtoarzE S 34,200 0 34,200
01 KHAYSEFSH] 34,200 0 34,200
OFPBLHAELU 2 0FHI 2
1,500, 00021 *1CH 1,500
OFBLLHAMEH NBHLI| P
1,200, 00021 *1CH 1,200
oUeXAY AREI| 7Y 20,700
= 200,0002! *504 10,000
-9l Xt 100,0002! *100JH 10,000
-2 ol 500,000 *1JH 500
~Ab &I 20,0002 * 1} 200
OAZolM AREI| 2 10,800
-2y 200,000 %25)H 5,000
-l Xt 100, 00024 %504 5,000
- A&l o 200,0002 *4} 800
A=sMesisin 2 g 1,000,000 1,500,000 A500,000
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S HdIIEL
FH: HAW 25 2 S (MIEX/2 - HAE)

ool HaE=T A (5 &2
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
308 XHXIEHH SOIH 1,000,000 1,500,000 A500,000
06 DEIITUHESRES 1,000,000 1,500,000 A500,000
OStDDS0A HE L ZBSAH X2
1,000,000,0002 14! 1,000,000
2Pl PERIER-XICES 93,000 93,000 0
| 46,500
= 3,950
Al 32,550
307 212t0IH 93,000 93,000 0
| 46,500
= 3,950
Al 32,550
05 OIAFIES 93,000 93,000 0
OBHIFLEYE 2| 93,000,0002 93,000
p] 46,500
= 3,950
Al 32,550
HAETRY 29(2)(2X) 62,000 62,000 0
2 31,000
Al 31,000
307 2120l 62,000 62,000 0
2 31,000
Al 31,000
05 QIIES 62,000 62,000 0
Of4yAETRY 29| 62,000,0002 62,000
2 31,000
Al 31,000
HAUDRY 2Y(ZH)(2X) 70,000 70,000 0
= 21,000
Al 49,000
307 2120l 70,000 70,000 0
= 21,000
Al 49,000
05 OIIES 70,000 70,000 0
OgstEAEZRY 29| 70,000,0002 70,000
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A LS 0
FH: HAW 25 2 S (MIEX/2 - HAE)

ool HaE=T A (5 &2
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Egﬁ Hws2
= 21,000
Al 49,000
NZEAESRAL HES(BF) 214,000 493,000 A279,000
= 173,000
Al 41,000
401 AlEHI L2 214,000 493,000 A279,000
= 173,000
Al 41,000
01 Al&H] 208,860 482,400 A273,540
OFPBZHAELUR SHHSAY 208,860
~ &L A& 200,000, 0002 *4. 43/ 100 8,860
~Al & HI 200,000, 0002 * 14! 200,000
2 73,000
Al 27,000
02 el 3,700 7,050 3,350
OFBEHAELUY HHSAY 22|
200,000, 0002 *1.85/100 3,700
03 Al&=CHH] 1,440 3,550 A2,110
OFPBLHAELAY HHSAY AL
bl 200,000, 0002 0. 72/ 100 1,440
NZENRE 2 (8F) 3,000 3,000 0
o] 1,500
Al 1,500
201 Lsr2 Yyl 2,800 2,800 0
| 1,400
Al 1,400
01 AtR2elt] 2,800 2,800 0
03.294+Y 2,800
~HAE ORIV ALY
70,0002 ¥102 %43 2,800
p] 1,400
Al 1,400
01 YsrEaZ 200 200 0
| 100
Al 100
10 SAAHIZ A3 200 200 0
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S 0t
ol HAW 25 Y S (MISX/ 0 - FAA)
cel: Bad=x 1d CLEE

[=}
[uind

_ _ SIEN
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 il b o bRz
OBAA HOFIE AR 24 M2
5,000 * 102 *43] 200
| 100
Al 100
HAULHD 2Y 1,442,671 591,855 850,816
2 69,700
2 480,000
| 43,548
= 50, 127
Al 799,296
HAULED 29 453,627 352,766 100,861
101 oIty 21,413 20,660 753
10 JARMIENSES 21,413 20,660 753
DO L HERY ol
33, 50021 *4% *42 *43] 2,144
2 HA FY| 2159
33, 50021 %23 *252 62 10,050
2X o2
33,5002 %1% %2202 7,370
2o3 19,564, 000! %9, 45% 1,849
170, 134 146,936 23,198
73,232 53,292 19,940
19,792
§E 2% Ysissy|
6,832,000% 6,832
“HEHIAM BIIFY 248
400,0002 %122 4,800
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| 24,952
& 7,484
Al 17,467
101 ol | 49,903 48,979 924
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FM: HEIIEL
M HE2IZHI(HAIE=D)(JIEH/IIEH
el oY (WA= (ctel &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
101 @IAH| | 24,952
& 7,484
Al 17,467
03 ZFAHZAH 2,400 2,400 0
OELAHESEXNJAME AR
100,000& 2 x12& 2,400
| 1,200
< 360
Al 840
04 WSS x| 3,600 3,600 0
OFAUSEXNAAMEH 43
150,000& «2E = 12& 3,600
J| 1,800
& 540
Al 1,260
05 HWEFOHI 2,192 2,148 44
OFAUSHNAME S
26,301,600&*1/12 2,192
| 1,096
= 328
Al 768
06 JHAHIXIAHI 5,480 5,369 11
OFAUSBNAME S
26,301,600 *2.5/12 5,480
| 2,740
& 822
Al 1,918
08 JIEtAE = 36,231 35,462 769
OFAEUSEXNAAMH 43 36,231
== 1,095,900 x2H = 12& 26,302
| 13, 151
= 3,945
Al 9,206
- 0= 26,301,600& *2/12 4,384
| 2,192
= 658
Al 1,534
At 2R 6,7103 «2H«15A 2t+ 123 2,416
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e e
J¥0x 0x
M0 [H0 2

02 02 JM

IIo\.IE__J

JHI( &S D
(O

=i

FY(D1EH/DIEL)

S " . T HEAS . HH 2 Al OH HEE Hl D=2+
_I_—I'O—|° |(9—Ij:”)' '“—l— I-I:J'Lo_i =5 0:”/&,% |J-|_61:1
J| 1,208
< 362
Al 846
AU Es JA2ES 33, 102,000& *9.45% 3,129
| 1,565
= 469
Al 1,095
MNolgEd A (HEAEXZAN(EX) 41,280 41,280 0
| 10,320
= 5,160
Al 25,800
101 124l 41,280 41,280 0
| 10,320
= 5,160
Al 25,800
09 RIAHAZZXE=S 41,280 41,280 0
OFAEURXEA 2182
1,720,000 *»2E «12& 41,280
J| 10,320
< 5,160
Al 25,800
JI23H (6 &ot=0) 73,150 62,670 10,480
N3l 12,990 12,990 0
201 Yer2gy| 12,990 12,990 0
01 At=R2teldl 12,510 12,510 0
O1.d8t=+=ZH| 7,910
-2EA2gE det=ZH| 4,110,000& 4,110
228 dALEEH 3,800,000 3,800
O5.2 &l 4,600
228 Y 4,600,000& 4,600
02 BISYH| 480 480 0
O1.333LAA 480
-EA2E 2R3 480,000& 480
S0l 56, 160 49,680 6,480
202 (44l 56, 160 49,680 6,480
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S HdIIEL
M HY2IZHI(HEIHS0)(IIEHIIE)
el JI2ZHI(HAIE)

_ _ _ Muo
SA-E . S(E) - MEAY - BES O & o4 e SImE=ET
01 =LAl 56, 160 49,680 6,480
OFIFLF=AHLI 20,0003 »26H x99 123 56,160
Aok 2 =2 FFH S| 4,000 0 4,000
405 XHoHESH| 4,000 0 4,000
01 XA ESEH=HI 4,000 0 4,000
O&EX=AD 2 4,000,000 = 1CH 4,000
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